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Cuadro 15 (continuación 4)/Table 15 (continued 4)
Nicaragua: tablas abreviadas de mortalidada

Nicaragua: abridged life tables 
a

1990

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.066 0.063  100 000  6 281  95 176 0.929 b 6 121 541 61.2
1 4 0.006 0.022  93 719  2 090  369 554 0.982 c 6 026 364 64.3
5 5 0.002 0.008  91 629   708  456 376 0.993 5 656 810 61.7

10 5 0.001 0.005  90 921   485  453 394 0.988 5 200 434 57.2
15 5 0.004 0.018  90 436  1 619  448 134 0.979 4 747 040 52.5
20 5 0.005 0.024  88 817  2 104  438 827 0.977 4 298 906 48.4
25 5 0.004 0.022  86 713  1 869  428 894 0.978 3 860 080 44.5
30 5 0.005 0.022  84 844  1 898  419 476 0.976 3 431 186 40.4
35 5 0.005 0.026  82 946  2 159  409 333 0.971 3 011 710 36.3
40 5 0.007 0.032  80 787  2 591  397 459 0.964 2 602 377 32.2
45 5 0.008 0.039  78 196  3 088  383 262 0.954 2 204 918 28.2
50 5 0.011 0.053  75 109  3 980  365 593 0.937 1 821 655 24.3
55 5 0.015 0.074  71 129  5 299  342 397 0.909 1 456 062 20.5
60 5 0.023 0.108  65 830  7 102  311 395 0.869 1 113 665 16.9
65 5 0.034 0.158  58 728  9 272  270 458 0.807  802 270 13.7
70 5 0.053 0.235  49 455  11 606  218 262 0.718  531 813 10.8
75 5 0.083 0.344  37 850  13 035  156 660 0.599  313 550 8.3
80 5 0.130 0.488  24 814  12 107  93 805 0.466  156 891 6.3
85 5 0.188 0.623  12 708  7 918  43 742 0.345  63 086 5.0
90 5 0.255 0.738  4 789  3 534  15 111 0.244  19 344 4.0
95 5 0.326 0.824  1 255  1 035  3 690 0.128 d  4 233 3.4

100 ω 0.407 1.000   221   221   543   543 2.5
Mujeres/Females

0 1 0.052 0.050  100 000  4 991  96 027 0.943 b 6 717 386 67.2
1 4 0.005 0.019  95 009  1 827  375 360 0.985 c 6 621 359 69.7
5 5 0.001 0.007  93 182   636  464 319 0.994 6 245 999 67.0

10 5 0.001 0.005  92 546   420  461 678 0.994 5 781 680 62.5
15 5 0.001 0.007  92 126   636  459 038 0.992 5 320 002 57.7
20 5 0.002 0.008  91 490   775  455 511 0.991 4 860 964 53.1
25 5 0.002 0.010  90 715   912  451 295 0.989 4 405 453 48.6
30 5 0.002 0.012  89 803  1 074  446 330 0.986 3 954 158 44.0
35 5 0.003 0.015  88 729  1 339  440 297 0.983 3 507 828 39.5
40 5 0.004 0.020  87 390  1 732  432 619 0.976 3 067 531 35.1
45 5 0.006 0.027  85 658  2 349  422 417 0.967 2 634 912 30.8
50 5 0.008 0.039  83 309  3 276  408 356 0.952 2 212 494 26.6
55 5 0.012 0.057  80 033  4 571  388 738 0.929 1 804 139 22.5
60 5 0.018 0.085  75 462  6 420  361 260 0.895 1 415 401 18.8
65 5 0.027 0.126  69 042  8 703  323 452 0.844 1 054 141 15.3
70 5 0.042 0.190  60 339  11 473  273 010 0.769  730 689 12.1
75 5 0.065 0.280  48 866  13 706  210 063 0.655  457 679 9.4
80 5 0.112 0.436  35 160  15 317  137 506 0.518  247 616 7.0
85 5 0.161 0.564  19 843  11 183  71 256 0.401  110 110 5.5
90 5 0.218 0.680  8 659  5 885  28 585 0.298  38 854 4.5
95 5 0.281 0.774  2 775  2 147  8 507 0.172 d  10 269 3.7

100 ω 0.357 1.000   628   628  1 761  1 761 2.8

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


